Hong Kong School of Commerce

Financial Accounting


Chapter 18 HKAS 7 Statements of Cash Flows

(I)
Multiple Choice Questions

1.
Which, if any, of the following statements about cash flow statements are correct according to HKAS 7 Cash Flow Statements?

1
The direct and indirect methods produce different figures for operating cash flow.

2
In calculating operating cash flow using the indirect method, an increase in inventory is added to operating profit.

3
Figures shown in the cash flow statement should include sales taxes.

4
The final figure in the cash flow statement is the increase or decrease in cash at bank.

A
1 and 4

B
2 and 3

C
2 only

D
None of the statements is correct.

2.
A cash flow statement shows the increase or decrease in cash and cash equivalents in the period. Which of the following items are included in this movement?

1
Cash at bank

2
Overdraft at bank
3
Current asset investments readily convertible into known amounts of cash and which can be sold without disrupting the company’s business

4
Equity investments

A
All four items

B
1, 2 and 3 only

C
1 and 2 only

D
1 and 3 only

3.
Which of the following should appear in a cash flow statement according to HKAS 7 Cash Flow Statements?

1
Dividends paid on preference shares

2
Interest capitalsed as part of the cost of a non-current asset

3
Cash flows resulting from share issues

A
All three items

B
1 and 2 only

C
1 and 3 only

D
2 and 3 only

4.
The HKAS 7 format for a cash flow statement using the indirect method opens with adjustments to net profit before taxation to arrive at cash flow from operating activities.

Which of the following lists consist only of items that would be deducted in that calculation?

A
Loss on sale of non-current assets, increase in inventories, decrease in trade payables

B
Depreciation, increase in trade receivables, decrease in trade payables

C
Increase in trade receivables, profit on sale of non-current assets, decrease in trade payables

D
Profit on sale of non-current assets, increase in trade payables, decrease in trade receivables

5.
A company’s balance sheets at 31 December 2007 and 2006 included the following items.
	
	Balance sheets at

	
	31.12.2007
	31.12.2006

	
	$000
	$000

	Taxation payable
	840
	760

	Retained earnings
	1,660
	1,470


The company paid no interest or interim dividends during these years, and the tax provision of $760,000 in the 2006 balance sheet was the amount paid in 2007. Using this information, what is the company’s operating profit for 2007 for inclusion in its cash flow statement?

A
$190,000

B
$1,030,000

C
$950,000

D
$1,660,000

6.
At 1 October 2006, BK had the following balance:

Accrued interest payable
$12,000 credit

During the year ended 30 September 2007, BK charged interest payable of $41,000 to its income statement. The closing balance on accrued interest payable account at 30 September 2007 was $15,000 credit.

How much interest paid should BK show on its cash flow statement for the year ended 30 September 2007?

A
$38,000

B
$41,000

C
$44,000

D
$53,000

7.
A company’s accounting records contain the following figures.

	
	$000

	Sales for year
	3,600

	Purchases for year
	2,400

	Receivables: 31 December 2006
	600

	31 December 2007
	700

	Payables: 31 December 2006
	300

	31 December 2007
	450

	Salaries and other expenses paid during 2007, excluding interest
	760


What figure should appear in the company’s cash flow statement for 2007 for cash generated from operations, based on these figures?

A
$490,000

B
$390,000

C
$1,250,000

D
None of these figures

8.
In the year ended 31 December 2007 a company sold some plant which had cost $100,000 for $20,000. At the time of sale the net book value of the plant was $18,000.

Which of the following correctly states the treatment of the transaction in the company’s cash flow statement?

	
	Proceeds of sale
	Profit on sale

	A
	Cash inflow under financing activities
	Deducted from profit in calculating cash flow from operating activities.

	B
	Cash inflow under investing activities
	Added to profit in calculating cash flow from operating activities.

	C
	Cash inflow under financing activities
	Added to profit in calculating cash flow from operating activities.

	D
	Cash inflow under investing activities
	Deducted from profit in calculating cash flow from operating activities.


9.
Which of the following items should not appear in a company’s cash flow statement?

1
Proposed dividends

2
Dividends received

3
Bonus issue of shares

4
Surplus on revaluation of a non-current asset

5
Proceeds of sale of an investment not connected with the company’s trading activities

A
1, 2, 3 and 5

B
3 and 4

C
1, 3 and 4

D
2 and 5

10.
The following is an extract from a cash flow statement prepared by a trainee accountant.

Reconciliation of operating profit to net cash flow from operating activities

	
	$000

	Cash flows from operating activities
	

	Net profit before taxation
	3,840

	Adjustments for:
	

	Depreciation
	(1,060)

	Loss on sale of building
	210

	
	2,990

	Increase in inventories
	(490)

	Decrease in trade payables
	290

	Net cash inflow from operating activities
	2,790


Which of the following criticisms of this extract are correct?

1
Depreciation should have been added, not deducted.

2
Loss on sale of building should have been deducted, not added.

3
Increase in inventories should have been added, not deducted.

4
Decrease in trade payables should have been deducted, not added.

A
1 and 4

B
2 and 3

C
1 and 3

D
2 and 4

(II)
Examination Style Questions

1.

The accountant of Sky River Ltd is reviewing the cash flow requirement for the coming year. However, the cash book has recently been destroyed by fire, only the following information is available.

(i)
All the sales and purchases of Sky River Ltd were on credit and were generated evenly throughout the year.

(ii)
Stocks, debtors and creditors balances on 1 July 1996 were the same as those on 30 June 1997.

(iii)
For the year ended 30 June 1997, sales and cost of sales were $12,000,000 and $7,500,000 respectively.

(iv)
Financial ratios for the year ended 30 June 1997 were as follows:

	Stock turnover period
	3 months

	Debtors collection period
	2 months

	Creditors collection period
	2 months

	Current ratio
	3.6 : 1


(v)
Current assets comprise cash, debtors and stocks only for both 1997 and 1998.

The management is targeting to increase the sales and cost of sales by 20% for the year ending 30 June 1998 so as to improve the company’s financial ratios as follows by 30 June 1998:

	Stock turnover
	5 times

	Debtors collection
	9 times

	Creditors collection
	8 times

	Quick ratio
	2 : 1


It is also expected that interest expense for the year ending 30 June 1998 will be $962,500

Required:
(a)
Calculate the following balances at 30 June 1997:

(i)
Stocks

(ii)
Debtors

(iii)
Creditors

(iv)
Cash
(4 marks)

(b)
Calculate the following balances at 30 June 1998:

(i)
Stocks

(ii)
Debtors

(iii)
Creditors

(iv)
Cash
(7 marks)

(c)
Prepare the expected cash flow from operating activities for the year ending 30 June 1998.



(9 marks)

(d)
Show the cash flow available for investing activities for the year ending 30 June 1998. Ignore tax and dividend.
(5 marks)



(Total 25 marks)



(HKAAT Paper 7 Financial Accounting II December 1997 Q5)

2.
BMW Property Limited is a property leasing company. Property dealing is not its normal activity.

Balance sheets as 31 December 1995 and 1996

(Expressed in millions of dollars)

	
	
	1995
	
	1996

	Fixed assets
	$
	$
	$
	$

	Property at net book value
	
	6,660
	
	6,300

	Current assets
	
	
	
	

	Rental receivable
	28
	
	18
	

	Interest receivable
	9
	
	13
	

	Tax recoverable
	10
	
	-
	

	Short-term deposits
	-
	
	810
	

	Cash at bank
	100
	
	100
	

	Cash in hand
	47
	194
	8
	949

	Current liabilities
	
	
	
	

	Rental received in advance
	17
	
	32
	

	Direct property cost payable
	7
	
	12
	

	Accrued wages
	5
	
	7
	

	Interest payable
	25
	
	40
	

	Tax payable
	-
	
	18
	

	Dividend payable
	-
	54
	30
	139

	Net working capital
	
	140
	
	810

	
	
	
	
	

	Total assets less current liabilities
	
	6,800
	
	7,110

	
	
	
	
	

	Financed by:
	
	
	
	

	Shareholders’ Funds
	
	
	
	

	Share capital
	
	4,000
	
	5,000

	Profit and loss account
	
	-
	
	110

	
	
	4,000
	
	5,110

	Long-term liabilities
	
	
	
	

	Debentures
	
	2,800
	
	2,000

	
	
	6,800
	
	7,110


Notes on property:

	
	Cost
	Aggregate depreciation

	
	$
	$

	Balance at 1 January 1996
	7,400
	740

	Additions/Charge for the year
	1,200
	30

	Less: Disposals/Write back on disposals
	(1,680)
	(150)

	Balance at 31 December 1996
	6,920
	620


Profit and loss account for the year ended 31 December 1996

(Expressed in millions of dollars)

	
	$
	$

	Rental income from tenants
	
	350

	Interest income
	
	20

	Profit on sale of property
	
	330

	
	
	700

	Direct property costs
	147
	

	Wages
	60
	

	Depreciation on property
	30
	

	Interest expense
	270
	

	
	
	507

	Profit before tax
	
	193

	Taxation
	
	33

	Profit after tax
	
	160

	Dividend
	
	50

	Retained profit for the year
	
	110


Required;
Based on the above financial information prepare a cash flow statement of BMW Property Limited for the year ended 31 December 1996 using direct method. You are not required to reconcile the operating profit to net cash flow from operating activities.

Marks will be deducted if indirect method is used.
(Total 25 marks)


(Adapted HKAAT Paper 5 Financial Accounting II December 1996 Q5)

3.
The following information relates to the affairs of General Limited:

Balance sheet as at 31 December

	
	2002
	2001

	Non-current assets
	$000
	$000
	$000
	$000

	Plant at cost less depreciation
	
	2,760
	
	2,600

	Property at cost less depreciation
	
	700
	
	800

	Investment at cost
	
	250
	
	300

	
	
	3,710
	
	3,700

	Current assets
	
	
	
	

	Stock and work-in-progress
	2,120
	
	900
	

	Debtors
	700
	
	660
	

	Deposit at bank
	620
	
	290
	

	
	3,440
	
	1,850
	

	Current liabilities
	
	
	
	

	Creditors
	720
	
	520
	

	Proposed final dividend
	400
	
	400
	

	
	1,120
	
	920
	

	Net current assets
	
	2,320
	
	930

	
	
	6,030
	
	4,630

	Long term loan (12%)
	
	300
	
	-

	
	
	5,730
	
	4,630

	
	
	
	
	

	Financed by:
	
	
	
	

	Issued share capital
	
	2,500
	
	2,000

	Share premium account
	
	200
	
	-

	Retained profit
	
	3,030
	
	2,630

	
	
	5,730
	
	4,630


Extracts from the Profit and Loss Account for the year ended 31 December 2002

	
	$000

	Trading profit for the year after charging all costs, including depreciation of plant, $250,000, and depreciation of property, $100,000
	700

	Interest received
	26

	Interest paid
	(18)

	Dividend received
	12

	Net profit from ordinary activities
	720

	Add: profit from sale of investment
	80

	
	800

	Less: Proposed dividend
	400

	Retained profit for the year
	400

	Retained profit at 1 January 2002
	2,630

	Retained profit at 31 December 2002
	3,030


During 2002, investments that cost $50,000 some years earlier were sold for $130,000.

Required:
(a)
Prepare a Cash Flow Statement in accordance with HKAS Cash Flow Statements”.

(15 marks)

(b)
With reference to the cash flow position, briefly comment on the liquidity of General Limited.
(5 marks)



(Total 20 marks)

4.
The following information has been extracted from the annual report of Sanrio Ltd.:

Profit and loss account for the year ended 31 December 1997

	
	$000
	$000

	Sales
	
	5,880

	Less: Cost of goods sold
	
	588

	Gross profit
	
	5,292

	Less: Operating expenses
	
	

	Staff costs
	444
	

	Depreciation
	888
	

	Loss on disposal of fixed assets
	48
	1,380

	Profit before interest and tax
	
	3,912

	Interest expense
	
	276

	Profit before tax
	
	3,636

	Taxation
	
	1,044

	Profit after tax
	
	2,592

	Dividend
	
	624

	Retained profit for the year
	
	1,968

	Retained profit b/f
	
	4,668

	Retained profit c/f
	
	6,636


Balance Sheets

	
	1997
	1996

	
	$000
	$000
	$000
	$000

	Fixed assets (Note 1)
	
	13,740
	
	11,484

	Current assets
	
	
	
	

	Stock
	228
	
	192
	

	Debtors
	456
	
	348
	

	Cash at bank
	228
	912
	384
	924

	Current liabilities
	
	
	
	

	Creditors
	144
	
	204
	

	Tax payable
	864
	
	732
	

	Proposed dividend
	252
	1,260
	180
	1,116

	
	
	(348)
	
	(192)

	
	
	13,392
	
	11,292

	
	
	
	
	

	Share capital
	
	2,184
	
	1,824

	Reserves
	
	
	
	

	Share premium
	1,692
	
	960
	

	Revaluation reserves
	2,040
	
	0
	

	Profit and loss account
	6,636
	10,368
	4,668
	5,628

	
	
	12,552
	
	7,452

	Long-term liabilities
	
	
	
	

	Long-term bank loans
	
	840
	
	3,840

	
	
	13,392
	
	11,292


Note 1:

	
	Land and building
	Plant and machinery
	Furniture and fittings
	Total

	Cost or valuation
	$000
	$000
	$000
	$000

	At 1 January 1997
	9,960
	5,640
	2,364
	17,964

	Additions
	0
	516
	660
	1,176

	Disposals
	0
	(216)
	0
	(216)

	Adjustment on revaluation
	840
	0
	0
	840

	At 31 December 1997
	10,800
	5,940
	3,024
	19,764

	
	
	
	
	

	Aggregate depreciation
	1,080
	3,240
	2,160
	6,480

	Charge for the year
	120
	672
	96
	888

	Disposals
	0
	(144)
	0
	(144)

	Adjustment on revaluation
	(1,200)
	0
	0
	(1,200)

	At 31 December 1997
	0
	3,768
	2,256
	6,024

	
	
	
	
	

	Net book value
	
	
	
	

	At 31 December 1997
	10,800
	2,172
	768
	13,740

	
	
	
	
	

	At 31 December 1996
	8,880
	2,400
	204
	11,484


Required:
Prepare the cash flow statement of Sanrio Ltd for the year ended 31 December 1997 in accordance with the requirements of HKAS 7. Marks will be credited for all relevant workings.
(25 marks)


(Adapted HKAAT Paper 7 Financial Accounting II June 1998 Q2)

5.
TMT Trading Ltd is a food wholesale company. Balance sheets of the Company as at 31 March 1998 and 1999 were as follows:

	
	1999
	1998

	
	HK$000
	HK$000

	Fixed Assets
	
	

	Leasehold property and office equipment at net book value
	3,439
	10,877

	Long-term investments
	800
	800

	
	4,239
	11,677

	Current Assets
	
	

	Stocks
	1,068
	1,346

	Debtors
	3,000
	2,992

	Interest receivable
	93
	73

	Tax recoverable
	135
	-

	Short-term deposits (mature on 30 April 1999)
	1,500
	200

	Cash at bank
	403
	431

	Cash in hand
	3
	9

	
	6,202
	5,051

	Current Liabilities
	
	

	Creditors and accruals
	3,831
	4,267

	Interest payable
	47
	122

	Tax payable
	-
	867

	Dividends payable
	250
	200

	Bank loan, secured: current portion
	333
	5,128

	
	4,461
	10,584

	Net current assets/(liabilities)
	1,741
	(5,533)

	
	5,980
	6,144

	Financed by:
	
	

	Shareholders’ Equity
	4,600
	3,800

	Profit and loss account
	380
	288

	
	4,980
	4,088

	Long-term Liabilities
	
	

	10% debentures
	1,000
	1,200

	Bank loan
	-
	856

	
	5,980
	6,144


	Notes on leasehold property and office equipment
	Cost
	Aggregate Depreciation
	Net book value

	
	HK$000
	HK$000
	HK$000

	Balance as at 1 April 1998
	12,618
	1,741
	10,877

	Additions/charges for the year
	99
	256
	

	
	12,717
	1,997
	

	Less: Disposals/written back on disposal of leasehold property
	8,280
	999
	

	Balance as at 31 March 1999
	4,437
	998
	3,439


Profit and loss account of the Company for the year ended 31 March 1999 was as follows:

	
	HK$000
	HK$000

	Turnover
	
	47,450

	Less: Cost of goods sold
	
	29,340

	
	
	18,110

	Other income
	
	

	Rental income
	134
	

	Interest income
	25
	

	Income from long-term investment
	60
	

	
	
	219

	
	
	18,329

	Less: Operating expenses
	
	

	Increase in provision for bad debts
	82
	

	Depreciation
	256
	

	Obsolete stocks written off
	62
	

	Interest expenses
	321
	

	Other administration expenses
	16,647
	

	
	
	17,368

	Operating profit before exceptional items
	
	961

	Exceptional items
	
	

	Loss on disposal of leasehold property
	
	(481)

	Expenses for share issues
	
	(5)

	Profit before tax
	
	475

	Taxation
	
	(133)

	Profit for the year
	
	342

	Proposed dividends
	
	(250)

	Retained profits for the year
	
	92


The objective of HKAS 7 is “to require reporting entities which fall within its scope to prepare a cash flow statement as part of their financial statements setting out on a standard basis their cash generation and absorption for a period”.

Required:
(a)
Define “cash” and “cash equivalents” in accordance with HKAS 7.
(3 marks)

(b)
Prepare a Cash Flow Statement in accordance with HKAS 7 “Statement of Cash Flows”.



(17 marks)

(c)
Based on the answer to part (b) above, comment on the changes in cash and cash equivalents.
(5 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Financial Accounting II June 2000 Q2)

6.
The draft financial statements of MP (HK) Ltd are given below:

Balance Sheet as at 31 December

	
	2000
	1999

	Non-current assets
	$000
	$000
	$000
	$000

	Plant and equipment, net
	3,700
	
	2,800
	

	Long-term investments
	1,300
	5,000
	1,125
	3,925

	Interest in associates
	
	1,700
	
	1,610

	Current assets
	
	
	
	

	Stock
	3,200
	
	3,080
	

	Debtors
	2,730
	
	2,380
	

	Interest receivable
	89
	
	78
	

	Tax recoverable
	56
	
	-
	

	Bank
	45
	6,120
	29
	5,567

	Current liabilities
	
	
	
	

	Creditors
	1,900
	
	1,450
	

	Interest payable
	120
	
	145
	

	Bank overdraft
	23
	
	35
	

	Tax payable
	-
	
	180
	

	Proposed dividends
	240
	(2,283)
	160
	(1,970)

	
	
	10,537
	
	9,132

	
	
	
	
	

	Financed by:
	
	
	
	

	Shareholders’ equity
	
	
	
	

	Ordinary shares
	2,200
	
	1,750
	

	Share premium
	2,000
	
	1,450
	

	Profit and loss
	2,650
	6,850
	2,370
	5,570

	Long-term liabilities
	
	
	
	

	Deferred taxation
	287
	
	308
	

	10% debentures
	1,600
	
	1,900
	

	Bank loan
	1,800
	3,687
	1,354
	3,562

	
	
	10,537
	
	9,132


Income Statement for the Year Ended 31 December 2000

	
	$000
	$000

	Turnover
	
	3,700

	Cost of sales
	
	1,950

	
	
	1,750

	Other income
	
	

	Interest income
	28
	

	Income from long-term investment
	65
	

	Commission income
	45
	138

	
	
	1,888

	Operating expenses
	
	

	Depreciation
	420
	

	Loss on sale of plant and equipment
	80
	

	Interest expense
	270
	

	Provision for bad debts
	150
	

	Other administration expenses
	210
	(1,130)

	Operating profits
	
	758

	Share of associates’ profits
	
	180

	Profit before tax
	
	938

	Taxation
	
	

	Company
	440
	

	Associates
	54
	(494)

	Profit for the year
	
	444

	Dividends
	
	(164)

	Retained for the year
	
	280


The following information is available:

1.
Plant and equipment with a net book value of $520,000 was sold during 2000 at a loss of $80,000.

2.
$200,000 debentures were redeemed at par by issuing ordinary shares of equivalent face value, and $100,000 debentures were redeemed by cash.
Required:
Prepare a cash flow statement for MP (HK) Ltd for the year ended 31 December 2000 in accordance with HKAS 7 “Statement of Cash Flows”.

(Show all workings.)
(Total 25 marks)



(Adapted HKAAT Paper 7 Financial Accounting II June 2001 Q2)

7.
The draft financial statements of Amble Ltd are given below:

Balance Sheet as at 31 December

	
	2001
	2000

	Non-current assets
	$000
	$000
	$000
	$000

	Leasehold premises at cost
	10,200
	
	10,200
	

	Equipment at cost
	40,800
	
	30,090
	

	Accumulated depreciation
	(12,800)
	38,200
	(13,480)
	26,810

	Current assets
	
	
	
	

	Inventories
	2,983
	
	2,412
	

	Trade and other receivables
	10,841
	
	7,960
	

	Provision for bad debts
	(930)
	
	(1,136)
	

	Cash at bank
	7,649
	20,543
	9,990
	19,226

	Current liabilities
	
	
	
	

	Note payable to bank
	3,330
	
	-
	

	Trade and other payable
	831
	
	2,034
	

	Interest payable
	850
	
	950
	

	Tax payable
	980
	
	1,050
	

	Accruals
	933
	
	1,428
	

	Current portion of long-term debt
	3,600
	(10,524)
	-
	(5,462)

	Net current assets
	
	10,019
	
	13,764

	
	
	
	
	

	Total assets less current liabilities
	
	48,219
	
	40,574

	Non-current liabilities
	
	
	
	

	Equipment contract payable
	
	(4,200)
	
	-

	Net assets
	
	44,019
	
	40,574

	
	
	
	
	

	Capital and reserves
	
	
	
	

	Issued capital
	
	33,000
	
	33,000

	Accumulated profits
	
	11,019
	
	7,574

	
	
	44,019
	
	40,574


Income Statement for the Year Ended 31 December 2001

	
	$000
	$000

	Turnover
	
	44,160

	Cost of sales
	
	(29,440)

	Gross profit
	
	14,720

	Other revenue
	
	

	Interest income
	90
	

	Gain on disposal of equipment
	700
	790

	
	
	15,510

	Operating expenses
	
	

	Depreciation
	3,220
	

	Interest expense
	730
	

	General expenses
	6,280
	(10,230)

	Profit before tax
	
	5,280

	Taxation
	
	(845)

	Profit after tax
	
	4,435

	Dividends
	
	(990)

	Net profit for the year
	
	3,445


The following information is available:

1.
The company acquired equipment costing $15,210,000 on 31 August 2001 for $6,210,000 in cash. The balance was payable under a hire purchase contract as $300,000 per month at the end of each month beginning 30 September 2001 plus interest at 8% per annum. The company made required payments when due.

2.
On 30 September 2001, the company disposed of equipment that had cost $4,500,000 for $1,300,000, recognizing a gain of $700,000.

3.
The company borrowed $3,330,000 from the bank on a six-month, 8% promissory note due on 15 April 2002.

Required:
(a)
Define the following terms in accordance with HKAS 7 “Cash Flow Statements”:

(i)
cash;

(ii)
cash equivalents;

(iii)
operating activities;

(iv)
investing activities; and

(v)
financing activities.
(6 marks)

(b)
Use the indirect method to prepare a statement of cash flows for Amble Ltd for the year ended 31 December 2001 in accordance with the requirements of HKAS 7.

(Show all workings.)
(19 marks)


(Total 25 marks)


(HKAAT Paper 7 Advanced Accounting December 2002 Q.C1)

8.
The draft financial statements of Hanford Ltd are given below:

Balance sheet as at 31 December

	
	2002
	2001

	Non-current assets
	$000
	$000
	$000
	$000

	Property, plant & equipment
	5,670
	
	5,490
	

	Intangible assets
	
	
	
	

	Goodwill
	540
	6,210
	600
	6,090

	Current assets
	
	
	
	

	Inventories
	8,260
	
	6,820
	

	Trade and other receivables
	6,465
	
	5,260
	

	Provision for bad debts
	(240)
	
	(160)
	

	Cash at bank
	210
	14,695
	30
	11,950

	Current liabilities
	
	
	
	

	Trade and other payable
	3,625
	
	3,190
	

	Bank overdraft
	85
	
	425
	

	Interest payable
	45
	
	15
	

	Tax payable
	390
	(4,145)
	480
	(4,110

	Net current assets
	
	10,550
	
	7,840

	
	
	
	
	

	Total assets less current liabilities
	
	16,760
	
	13,930

	Non-current liabilities
	
	
	
	

	10% note payable
	900
	
	300
	

	Government grant
	780
	
	900
	

	Plant maintenance provision
	-
	(1,680)
	80
	(1,280)

	Net assets
	
	15,080
	
	12,650

	
	
	
	
	

	Capital and reserves
	
	
	
	

	Issued capital, $1 each
	
	2,250
	
	1,500

	Share premium
	
	1,050
	
	300

	Revaluation
	
	450
	
	-

	Accumulated profits
	
	11,330
	
	10,850

	
	
	15,080
	
	12,650


Income Statement for the Year Ended 31 December 2002

	
	$000
	$000

	Turnover
	
	11,460

	Cost of sales
	
	(7,860)

	Gross profit
	
	3,600

	Operating expenses
	
	

	Depreciation
	960
	

	Amortisation of goodwill
	60
	

	Interest expense
	90
	(1,110)

	Profit before tax
	
	2,490

	Taxation
	
	(810)

	Profit after tax
	
	1,680

	
	
	

	Dividends
	
	1,200


The following information is available:

(1)
Cost of sales includes a loss on sale of plant of $150,000, and a credit for the transaction of government grants.

(2)
The plant maintenance provision was released to the income statement in the year to 31 December 2002 as these provisions are no longer required, following the company’s change of accounting policy to account for maintenance costs on an actual incurred basis.

(3)
The company revalued its buildings by $600,000 on 1 September 2002. The surplus was credited to a revaluation reserve.

(4)
New plant was acquired during the year at a cost of $750,000 and a government grant of $150,000 was received for the plant. The remaining movement on property, plant and equipment was due to the disposal of obsolete plant.

(5)
On 1 July 2002 a bonus issue of 1 new share for every 10 held was made from the revaluation reserve. In addition to the bonus issue, the company made a further issue of ordinary shares for cash.

Required:
Use the indirect method to prepare a statement of cash flows for Hanford Ltd for the year ended 31 December 2002 in accordance with the requirements of HKAS 7. Show all workings.


(25 marks)


(HKAAT Paper 7 Advanced Accounting December 2003 Q.C1)

9.
Micky Limited, a small private company, has a year end of 30 June 2006. Details of the balance sheets as at 30 June 2005 and 2006 and income statement for the year ended 30 June 2006 are shown below:

Micky Limited

Balance sheets as at 30 June

	
	2006
	2005

	ASSETS
	$000
	$000

	Non-current assets
	
	

	Property, plant and equipment [Note (1)]
	14,960
	12,920

	Intangible assets other than goodwill [Note (2)]
	6,800
	8,670

	
	21,760
	21,590

	Current assets
	
	

	Inventories
	5,950
	7,140

	Trade receivables
	13,736
	6,324

	Other current assets – interest receivable
	85
	51

	Cash and cash equivalents [Note (3)]
	799
	3,315

	
	20,570
	16,830

	Total assets
	42,330
	38,420

	EQUITY AND LABILITIES
	
	

	Equity
	
	

	Share capital – ordinary shares of $1 each
	5,100
	3,400

	Other reserves [Note (4)]
	2,924
	765

	Retained earnings
	18,666
	19,805

	Total equity
	26,690
	23,970

	Non-current liabilities
	
	

	Long-term borrowings [Note (5)]
	2,720
	2,550

	Total non-current liabilities
	2,720
	2,550

	Current liabilities
	
	

	Trade and other payables
	9,010
	8,755

	Short-term borrowings – bank overdraft
	2,125
	0

	Income tax payable
	1,785
	3,145

	Total current liabilities
	12,920
	11,900

	Total liabilities
	15,640
	14,450

	Total equity and liabilities
	42,330
	38,420


Income Statement for the Year Ended 30 June 2006

	
	
	$000

	Revenue
	
	2,040

	Cost of sales
	
	(1,394)

	Gross profit
	
	646

	Other income – interest receivable
	
	204

	
	
	850

	Distribution costs
	
	(425)

	Administrative expenses
	
	(510)

	Other expenses
	
	(255)

	Finance costs [Note (6)]
	
	(408)

	Loss before tax
	
	(748)

	Income tax [Note (7)]
	
	(17)

	Loss for the period
	
	(765)


Notes (1):

(i)
Micky Limited revalued the carrying value of its land and buildings with an increase of $1,190,000 on 1 July 2005.

(ii)
On 30 June 2006 Micky Limited transferred $51,000 from the revaluation reserve to retained earnings, representing the realization of the revaluation reserve due to the depreciation of buildings.

(iii)
During the year to 30 June 2006, Micky Limited acquired new plant at a cost of $1,020,000 and sold some old plant for $255,000 at a loss of $204,000.
(iv)
Details relating to the non-current assets are:

	Property, plant and equipment
	2006
	2005

	
	$000
	$000

	Land and buildings:
	
	

	Cost/valuation
	10,200
	8,500

	Accumulated depreciation
	(204)
	(1,360)

	
	9,996
	7,140

	Plant and equipment:
	
	

	Cost/valuation
	7,480
	7,565

	Accumulated depreciation
	(2,516)
	(1,785)

	
	4,964
	5,780

	
	
	

	Carrying value as at 30 June 2006
	14,960
	12,920


Note (2):

There were no acquisitions or disposals of intangible assets during the year to 30 June 2006.

Note (3):

	Cash and cash equivalents comprise:
	2006
	2005

	
	$000
	$000

	Short-term deposits
	544
	2,040

	Cash and bank balances
	255
	1,275

	
	799
	3,315


Note (4):

	Other reserves are composed of:
	2006
	2005

	
	$000
	$000

	Share premium
	1,020
	0

	Revaluation reserve
	1,904
	765

	
	2,924
	765


Note (5):

	Long-term borrowings include the following items:
	2006
	2005

	
	$000
	$000

	10% loan note
	0
	2,550

	7% variable rate loan note
	2,720
	0

	
	2,720
	2,550


Note (6):

	Finance costs comprise
	2006
	

	
	$000
	

	Interest expenses
	(272)
	

	Penalty for early redemption of loan
	(102)
	

	Issue costs of variable rate loan
	(34)
	

	
	(408)
	


Note (7):

	Income tax comprises
	2006
	

	
	$000
	

	Income tax refund
	238
	

	Income tax charge
	(255)
	

	
	(17)
	


Required:
Prepare a cash flow statement for Micky Limited for the year to 30 June 2006 in accordance with HKAS 7 “Statement of Cash Flows”, using the indirect method.
(25 marks)
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10.
Wave Limited, a list company, has a year-end of 31 December, details of its balance sheets at 31 December 2006 and 2007 are as follows:
	
	31 Dec 2007
	31 Dec 2006

	ASSETS
	$
	$

	Non-current assets
	
	

	Property, plant and equipment
	7,680
	5,640

	Investments at fair value through profit and loss
	1,710
	750

	
	9,390
	6,390

	Current assets
	
	

	Inventories
	2,880
	3,060

	Trade receivables
	2,100
	2,610

	Cash and cash equivalents
	0
	210

	
	4,980
	5,880

	
	
	

	Total assets
	14,370
	12,270

	
	
	

	EQUITY AND LIABILITIES
	
	

	Equity
	
	

	Equity shares of $1.5 each
	3,000
	1,800

	Share premium
	900
	510

	Revaluation reserve
	360
	150

	Retained earnings
	5,700
	5,790

	Total equity
	9,960
	8,250

	Non-current liabilities
	
	

	Bank loans
	1,800
	150

	Total non-current liabilities
	1,800
	150

	
	
	

	Current liabilities
	
	

	Trade payables
	2,100
	3,330

	Bank overdraft
	150
	240

	Current tax payable
	360
	300

	Total current liabilities
	2,610
	3,870

	
	
	

	Total liabilities
	4,410
	4,020

	
	
	

	Total equity and liabilities
	14,370
	12,270


The following events occurred during the year ended 31 December 2007:

(1)
A plot of land and several items of plant and equipment were grouped under “property, plant and equipment”. The plot of land was revalued upward by $210,000 during the year. Depreciation of property, plant and equipment for the year was $1,530,000. There were no disposals of property, plant and equipment during the year.

(2)
The market value of the investments had increased during the year by $90,000. There have been no sales of these investments during the year.

(3)
On 1 April 2007 there was a bonus issue of equity of shares of one for every four held utilizing the share premium reserve. A further cash share issue was made on 1 May 2007. No shares were redeemed during the year.
(4)
Interest paid during the year was $60,000.

(5)
Income tax expenses for $342,000 had been charged to income statement for the year to 31 December 2007.

(6)
A dividend of 30 cents per share was paid on 1 October 2007.

(7)
Profit after tax for the year to 31 December 2007 was $510,000.

Required:

(a)
Prepare the statement of cash flows for Wave Limited for the year ended 31 December 2007, using the indirect method.
(20 marks)
(b)
Based on your answer in (a), comment on the cash position of Wave Limited.
(5 marks)

(Your answer should be in line with the requirements of HKAS 7 “Statement of Cash Flows”.)



(Total 25 marks)
11.
The following show the comparative balance sheets for Lee Company Ltd for the financial years ended 31 December 2000 and 31 December 2001, along with some selected financial information from those periods:

	
	31 Dec 2000
	31 Dec 2001

	
	$
	$

	Current assets
	
	

	Cash
	8,000
	2,000

	Accounts receivable
	35,000
	44,000

	Inventory
	27,000
	24,000

	Total current assets
	70,000
	70,000

	Non-current assets
	
	

	Plant and equipment (net)
	90,000
	122,000

	Land and buildings (net)
	180,000
	220,000

	Total non-current assets
	270,000
	342,000

	
	
	

	Total assets
	340,000
	412,000

	
	
	

	Current liabilities
	
	

	Lease obligations payable
	-
	2,000

	Accounts payable
	34,000
	44,000

	Total current liabilities
	34,000
	46,000

	Non-current liabilities
	
	

	Lease obligation payable
	-
	6,000

	Bonds payable
	-
	40,000

	Mortgage payable
	50,000
	46,000

	Total non-current liabilities
	50,000
	92,000

	
	
	

	Total liabilities
	84,000
	138,000

	
	
	

	Equity
	
	

	Ordinary shares, $1 par
	200,000
	200,000

	Retained earnings
	56,000
	74,000

	Total equity
	256,000
	274,000

	
	
	

	Total liabilities and equity
	340,000
	412,000


Note: All sales and purchases for all periods are “on account”.

Selected information from other accounts for the year ended 31 December 2001:

	
	
	$

	Sales
	
	420,000

	Cost of goods sold
	
	294,000

	Depreciation
	
	8,000

	All other expenses
	
	42,000

	Taxes paid (in cash)
	
	20,000

	Cash dividends paid
	
	38,000


During 2001, an addition was made to the building at a cost of $40,000. The addition was paid for by the issue of ten-year 5% bonds directly to the builder. The addition was completed and the bonds issued on 31 December. A new delivery vehicle (included in plant and equipment) was acquired by use of a five year finance lease at 6% interest on 31 December at a discounted value of $10,000. The first payment of $2,000 was made on 31 December, leaving four remaining equal payments (plus interest). No disposals took place in the land and buildings or plant and equipment accounts during the year.

Required:
(a)
Prepare a cash flow statement by using direct method for Lee Company Ltd for the year ended 31 December 2001.
(15 marks)

(b)
What additional information is available from the cash flow statement that is not present in the other financial statements?
(5 marks)



(20 marks)
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12.
The followings show the comparative balance sheets of Lee Limited (Lee) for the years ended 31 December 2001 and 31 December 2002:

	
	2002
	2001

	Non-current assets
	$000
	$000
	$000
	$000

	Property, plant & equipment
	
	
	
	

	Cost
	585
	
	450
	

	Less: Accumulated depreciation
	(135)
	450
	(75)
	375

	Current assets
	
	
	
	

	Inventories
	345
	
	195
	

	Trade receivables
	150
	
	203
	

	Provision for doubtful debts
	(60)
	
	(30)
	

	Bank balances and cash
	360
	
	14
	

	
	795
	
	382
	

	Current liabilities
	
	
	
	

	Trade payables
	205
	
	225
	

	Accrued wages
	95
	
	105
	

	Bank overdrafts
	10
	
	150
	

	Tax payable
	310
	
	480
	

	Net current assets
	
	485
	
	(98)

	Non-current liabilities
	
	
	
	

	Long term loans
	
	(240)
	
	0

	Net assets
	
	695
	
	277

	
	
	
	
	

	Capital and reserves
	
	
	
	

	Share capital
	
	450
	
	90

	Share premium
	
	85
	
	0

	Revaluation reserve
	
	100
	
	7

	Retained profit
	
	60
	
	180

	
	
	695
	
	277


Let’s profit and loss account for the year ended 31 December 2002 is given below:

	
	
	$

	Revenues:
	
	

	Sales
	
	230

	Interest income (all received)
	
	15

	Gain on sale of property, plant and equipment
	
	30

	
	
	275

	Expenses:
	
	

	Cost of good sold
	
	150

	Doubtful debts
	
	30

	Depreciation
	
	80

	Wages
	
	135

	
	
	395

	
	
	

	Net loss for the year
	
	(120)


Other information:

· An item of property, plant and equipment sold during the year had a net book value of $75,000 and was sold for cash. No revaluation had been previously carried out in respect of this asset.

· Share capital consists of:

	
	2002
	2001

	
	$000
	$000

	450,000 ordinary shares of $1 each
	450
	

	90,000 ordinary shares of $1 each
	
	90


· Nor borrowings were repaid during the year.

Required:
(a)
Prepare Lee’s cash flow statement for the year ended 31 December 2002 by using the “direct method” in accordance with HKAS 7 “Statement of Cash Flows”. Show your workings and calculations.
(12 marks)

(b)
Explain under which type(s) of activities interest and dividends paid, and interest and dividends received, should be reported in a cash flow statement in accordance with HKAS 7.
(5 marks)

(c)
Net income/loss and net cash inflow/outflow are two measures of a company’s performance. Why are these two measures as reported in financial statements different? And when will they be the same?
(3 marks)



(Total 20 marks)
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